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1. (a) In the classical model, how is equilibrium brought
about between demand and supply of output ?

(7)
(b) Explain the Desired stock of capital. (8)

OR

(a) Explain financial market equilibrium in the classical
model. N

(b) Distinguish between anticipated and unanticipated
inventory investment. Why is there usually a mis-
match between the field ? (8)
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2. Given the following :—

Consumption : C=200+0.75 Yd
Investment : 1=200-251
Govt. Expenditure . G =200

Taxes : T =200

Demand for money : L=05Y-1001
Nominal money-supply : M =900

Price level : P=2

(a) Calculate equilibrium income and the rate of

interest.

(b) If G is increased to 250, and M is increased to
1100, what is the extent of shift in the IS and LM

curves ?

(c) What are the new levels of equilibrium income
and rate of interest ? (5%2+4+5%)

OR

P.T.O.
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Given the following :—

Consumption : C=5+0.8Yd
Investment : 1=280-5i
Govt. Expenditure : G=315

Taxes : T=025Y
Demand for money : L=04Y-51i
Nominal supply of money : M = 800

Price level cP=2

(a) Find the equilibrium level of income and rate of

interest.

(b) If G is increased by 10 and at the same time M
is also increased by 20, what would be the change
in the equilibrium level of income and rate of

interest ?

(c) Compare the Budget Surplus at the original equilibrium
and the new equilibrium. (5%+4+5%)
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3. (a) Using IS-LM analysis, explain the transmission
mechanism by which expansionary monetary policy
affects the level of income in an economy. (8)

P.T.O.
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(b) What is stagflation ? How can it be explained using
the modern Phillips curve ? N

OR

(a) Analyse the effect of an investment subsidy on
the level of income. N

(b) With the help of the Fisher equation and a diagram,
explain how an increase in the rate of growth of
money supply affects the nominal rate of interest
over time. . ®)
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4. (a) What are the causes for wage rigidity and how
does it cause unemployment ? N
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(b) Discuss the relationship between inflation and
output in the short-run and in the long run. (8)
"OR

(a) Explain the original Phillips curve. Using Phillips
curve analysis, derive the wage-employment

relationship. %)

(b) Explain the following :~

(i) Sacrifice ratio

(ii) Fisher effect 6)
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5. (a) Explain the effect of the following on the real
exchange rate and net exports in a large open

economy.

(i) Expansionary fiscal policy at home
P.T.O.
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(ii) Shift in Investment demand 8)
(b) How does fixed exchange rate system operate when

equilibrium exchange rate is higher than fixed
exchange rate ? Illustrate with an example. (7)

OR

(a) Explain the effect of a fall in net capital outflow
on real exchange rate and net exports in a large
open economy. (8)

(b) Explain the effect of expansionary monetary policy
under fixed exchange rates in the Mundell-Fleming
model for a small open economy. (7)
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